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CORE UNIT - GEOGRAPHY
PATTERNS AND PLACES
Answer Question 1 (Section A), and either Question 2 or Question 3 (Section B).
SECTION A
Answer all parts of this question.

1. Study Source A below which shows the distribution of world population.

Source A

(a) What does Source A tell you about the distribution of world population? [2]

(b) Suggest why some parts of the world have very low population densities. [4]
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Study Source B below which shows the growth of the world’s population since 1750.

Source B

World Population Growth 1750-2050
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- Less Economically Developed Countries (LEDCs)

More Economically Developed Countries (MEDCs)

(c) Use Source B to describe what has happened to world population since 1750. [4]
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Source C

Population (Age-Sex) Pyramids for Kenya and Italy
Kenya Italy
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(d) Use Source C to describe the differences in the population structures of Kenya and Italy. [6]
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(e) Describe some of the effects of a natural disaster (e.g. earthquake, flood, drought) and
explain why some people may suffer more than others. [8]

The effects of a natural disaster:

END OF SECTION A
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SECTION B

Answer either Question 2 or Question 3.

2. Look at the information below and then answer the questions which follow.

INFORMATION

The effects of acid rain on the stonework of a building

(a) Describe the causes of acid rain. [4]
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(b) Explain why it may be difficult to solve the problem of acid rain without international co-
operation. [4]
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(c) Using an example that you have studied, other than acid rain, describe the causes and
effects of an issue of environmental concern. [8]

Example studied:
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3. Look at the information below and then answer the questions which follow.

INFORMATION

The City of Mumbai (Bombay) in India

(a) Describe the type of housing you would expect to find in a shanty town or squatter
settlement in a city in a less economically developed country (LEDC). (4]
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(b) Explain why the poorest housing is usually found on the edge of cities in less economically
developed countries (LEDCs). [4]
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(c) Using an example that you have studied, describe a scheme to improve the housing quality
in an inner city area of the UK and comment on its success. [8]

Example of scheme:

END OF SECTION B
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